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(ii)

T&@W/ Bookict Code :| C

e:3 Hours Marks : 200

jons :

Each question carrieg one mark
98 BHS 2§ Ky, Kok,

Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 15 25 Jor4
in the circle pertaining to the question number concemed in the OMR Answer Sheet,
separatcly supplied tq you.

B3 RS B8 BHK aswas ;is® $0ghE JITFEING IKHFY T JorD0B
o8 1,2,3 B8 4 3 QNS OMR S8 :;_Lééweﬁ‘ ©%) dopgdo Jedador Ko HDoohd
L8R aT/erE S Fanots ) sBErod MoDIBP.

; 1 1
A person gives 475 % of his property to the clder son, 325 % to the younger son, 5% to

a temple and the balance of Rs. 6 lakhs to his daughter. The share of the younger son
(in lakhs of rupees) is

1 1
0§ 558 85 wRS* 475% DG K3rEIK, 325% DY) SoSrEI%, 5% w8 Borosras

Q) DADS &, 6 vk HSrgs [, AN 203508 ot (ofe da*é‘o‘ﬁoe.?»:)
(1) -2 (2) 6 3) .13 4) 15

£ 25% of a number is added to another number then the second number is increased by
10%. The ratio of the first number to the second is

o€ Bomgest 25% & S06°€ Dopgo EOVB wHy & Tod® Dowg 10% D hod. 0.

SopgEd oS DoPg RL]
(1) 12 2 2l 3) 25 ) 5:2

. _’/‘—x

of his monthly salary. His salary was increased by 20%. He increased

Aperson spends 80% _ e i
Then, the percentage increase in his savings is

his expenditure also by 20%.
0 538 083 Fo dgoS’ 80% POEYDET D, 38 Jukd £80 20% DOR0S. VEKH &

2D Srd 20% RESRY Frd. O BEH wrFd S’ OGSO TS0
(1) 15 @) 20 3) 25 @) 30
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4, Aclass has two seetions A and B having 60 and 40 students respectively, 1045% of the
section Aand S5% ol the seetion BB pass incan examination then the pass percentage of the
(o sections together iy
Lk S080S'0 Vo DR A, B od* S 60, 40 Lol o
A O;‘:rJJU "St#". 13 tJE-‘:JJcJ 55% :JG‘S'ZJI,)IC)J t'_ulc,:_};[i;t‘, 18 Vo ';.J_!a'u,v:., 5 505 e j:}" o Tilo
w9 (2) 52 (3) 54 (4) 37

5. To pass an examination a student has to secure 45% of marks. A huy getting, Z‘J‘i rmarks
fails by 20 marks. The maximum marks for the examination is
o8 HOES* ©lgss gl 45% Dby s Foddon wob. 295 & S, 0 545 w8 35738
20 Sdyoo S0 HOE Sy, o BOELS KOG Sody
(1) 750 _sz; 700 (3) 650 - (4) 600

6.

a fraction if the numerator is increased by 23% and the denominator is decreased by

32% we get new fraction 7 Then sum of the new fraction and the onginal fraction (s

13

2.8 DH " wrd) 23 Tdo wod *TR) 32 wdo 80 STy B8 DS 17 vivds & 58
' a.'élo, wdw Phov wdo
XS 2834 2483 2384
(1) == @) &57 @) 7 @ =
2109 2190 2091 2901
7. The total number of students in a class, with 44 girls and the rest 45% boys is
44 .x:o&r z:ﬁaém D008 45% H08 ey Gl S658G' Ingo AT So.m Ropg
(1) 85 ' 1) 80 3) 76 @ 74
There are 60 students in a class, One of the students weighing 40 Kg was replaced by

another student, Now, the average weight of the students increases by 0.2 kg The weight

of the new student is (in kg)

28 BEKBS* 60 S0l DEgRLI Gy, Hoe' 40 BSrsne adPio wb ITHY ndes
L6 TG Doyl 1 B0A0G* BOTE, ndyes arb diftn B 0.2 BI'EEnes i3 sonld.
® ¥ Dorgh vy, BS(Pnud, ‘

1y 48 A sz Gy sS4 . @ 56

et ey
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9, The agi.! t?f 40 numbers is 35. If two numbers 44, 45 are discarded, then the average
of the rmaining numpers 1 ’
40 SOPEO DL 35, 33es® Bows Sopgen 44, 45 FONE AOS Sowge BiEkD
() 333 2) 34 ) 3425 @) 345
-—'_'_'-._—_'_-_“_—‘—'-‘-‘_,F___
10. Thhcr C_ ﬂi:g“’r ;lumbers. The average of first three numbers is 56 and the average of the last ¢
three 15 49. If the first number i 48; then the last number is1
4 RomgTon. ES* Aas Surds Somge DL 56 20K 056 Kardd SoPge
Rrfeo 49. TES* Jnoeey éo:pg 48 wond DS Jowg. _
(1) 40 (2) 55 (3) 39 o 27
1. T\V9 persons A and B started a company with capital§ Yh the ratio 7:8. At the end of the
business A and B shared the profit in the ratio 5:4. If A kept his capital for 10 months,
then the number of months that B kept his capital is
A 0005n B @9 8D Sg&ven 7:8 QQBS* énad DE 28 500 (FEoDoT.
Tgrorodods” SN erginds A, B e 5:4 AQES” JowhHat. A 85 Denadd
10 Iwen Godad, B &3 DEN2EY GoDS JIve Qowg
(1) 9 @ 1 @) 6 @) .5
[2.  Inapartnership A, B, C invest capitals in the ratio 3:5:7. If at the end of the year,. the 'total

——

l

]

s 1

profit is Rs. 90,000, then the difference between the profits of A and C, in rupees, is

2.8 a‘;ﬁ;&vséggoej“ A, B, C00:3:5:7 985" Diynd ipth. dosgoodos® Ingo erglo
&1 98.000, wond A, Co rare g B6o, Srarahest,

(B 24000 (2) 18000 (3) 12000 (4) 9000

A, B, C started a busincss wi}h capitals in the ratig 4:5:6 which are kept for 16 1no'hths,
12 months, 8§ months respectively. f“ the end of the business, if B’s share in the profit is
Rs. 1,35,000, then the total profit, in rupees, is

A, B, C e o§ gdos’ 4:5:6 3DES Dipsgess S5 16 Ioen, 12 Jows
R Borwo Somd. Hosd)Todod’ TTHOST By, T &r. 1,35,000 5% 3ndo erso

EFabest, i o 7
2) 3,47,000 (3) 3 4
(1) 3,00,000 2) ,67,000 A 3,87,000
5-C
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A, B enter a business with capitals Rs. 3 lakhs and Rs. 4 lakhs respectively. At the end of

the year A receives monthly salary for looking after accounts. At the end of the year
A and B receive their shares respectively cqual to the amounts when the total profit of

Rs. 1,96000 is divided in the ratio 4:3. Then A’s monthly salary in rupees, is

A, B oo 363 &, 3 efen, &r. 4 0§e0 DERDHDOE 28 T3rdo (FEodomrh. greroio
SrRS0tE SoSdrrosost A J0dd %o Bo0drd. BoddTrodos® SMS Indo
ergio 8. 1,96,000 0 4:3 djfe* IFL0DSHyE STy Jogos SHdm A, Bes 570
T WOEITT)E. WP A BnE), I8 Edo, rarodesT,

2
e . (4) 4500

3) 42
(3) 42713

I
4015 -
9/ (2) 40837

5.

Two persons A and B enter into a business with capitals in the ratio 4:5. At the end of
5 months A withdraws from the business. At the end of the business, if they shared the
profit in the ratio 1:6, then the number of months B’s capital was used in the business is

256 Sg8en A, B ew 4:5 38 Dipadhod’ wf TgFrod) @dofowd. S Jve
Stoad Aago S0l Sdysad. Ty DEES ererd) a8 1:6 0 8s* H0t55008,

ea;’ﬁdo B 88 e mgs‘doej‘ &o0S Jvw Dopg
4) 16

16.

:.inﬁ‘gdo Sg8oen A, B, C 0% a8 3080 HodTrd. & PSS 5 o A8, >

#) 24 @) 18 G3) 12
1
— of the amount, B

A certain amountss divided, among three persons A, B and C.'A gets y

L. , .
gets — of the amount aixd C gets the remaining amount. If C gets Rs. 2800/- then A gets

1
— 20

B8, 2500 arsony C 8 . C8 323 drifoy 6. 2800/- 0B, A8 SO sy
@ 1000 .. (3 1100 4 1200

[ 800
17,

......

' G3) 0.03 (4) 0.003

(1) 303 (2 03

Vi

18.

The meés _charger; for 42 students for 28 days is Rs. 47,040. Then the mess charges for
35 students for 25 days, in rupees, isequalto |

42 508 :acsugcsgé;'éa"zs &woéo 5 o 47,040 &r1 w0, 35 Ho0d dEgiResd
25 Sarek wdby 19 The, SrFehust, T
(1) 37,250 (2) 35,000 {3 322350 (4) 30,000
—aaad A OB -

6-C

https://www.careerswave.in/



19.

https://www.careerswave.in/

AR—Z Booklet Code : C

Jl + “, 2_\_‘ = 3"‘) = X - -‘J

—

Xy
2
M 3 2) % @ 3 (4) -5
e —— e ———————————
20. A person P started business with some capital and another person ) joined him four
months later investing 60% more than the investment of P, [ Q gets Rs. 5000/- more
profit than Pat the end of the year then the profit of P (in rupees) is
§od DERDEE* P P 588 g>rbo (@soDodm U dogd Ty Jves Q el 358
P 2épad 808 60% 895 binwas' sgrdod’ Bod. Solgoodod” P Eod Qs
&= 5000/- Qsﬂ:&;’) oo 5 wdyds P @wg), erdo (Erarle)
(1) 55,000 2) 60,000 (3) 65,000 4y 75,000
21, Ifa:b=1:2, bie=3:5, c:d = 5:4 and e:d = 5:6 then a:b:c:d:e =
a:b=1:2, b:c=3:5, c:d = 5:4 50050 e:d=5:6 wo0d a:b:c:d:e =
(1) 3:6:10:8:7 2y 9:18:30:24:20
(3) 15:30:50:40:48 (4) 1:2:3:4:5
22. Ifthe average age of three persons is 20 years and the ages are in the ratio 2:3:5, then the

<&, 50,000/ 03

B 20 .-
o e ——— m

age (in years) of the youngest among them is 6o

S8yt Sg8ge HT0 oy 20 Soddyoren, 570 Sahdgye QG 2:3:5-wand IO
©Q) D) Sadyre S8 $5030%9) (doSdyores’)

) 12 (2) 18 L3 10 @) 8

In a joint business A invested thrice that of B and the period of investment of A is
twice that of B. If the share of B in the profit is Rs. 40,000/~ and if A donates a sum of
Rs. 50,000/~ to a trust from his share then the amount left with A in the profit (in lakhs of

rupees) is

2.& S50 3553,5506‘ Atged, Ba‘?é“&”&g Sordodenotar, AR sToo Bliyna
Serd8 Bohoden wob. FgFrood THOS B iy . 40,000 /- won, A 83 Trares
;,g @.:@éo o TR, ot AR ponds iy (08 & o)

oy & A =) % @) 1.5
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A person A purchased a watch for Rs. 4800 and sold it {o Ii/,}:ﬂl" 8% profit. B sold it to
C for 12% loss. The amount paid by C, corrected to nearest rupee, is

A s w8 358 w8 dAasirog) 4800 &7 FR o'Q) B ud 5588 8 rdo eraib sy,
A B, 12380 3308 C 8 winyordd. CBYodS 38y, bl grond 5568,

(1) 4784 ) 4691 |

3y 4562 (4) 4448

—

25. If 175 workers can dig a canal of 3150 m long in 36 days, then the number of workers
required to dig a similar canal of 3900 m long in 24 days is
175 S008 B 3150 obd SdHI) scendS 36 g’ S55A003, winSossd
3900 o8 SEHI) eSS 24 Glard’ 58 5°H0RS BIT0 Sops .
(1). 275 (2) 300
J 325 4) 350

26. If a train runs at a speed of 40 kmph rcaches its destination late by 11 minutes but if it
runs at a speed of 50 kmph it is late by 5 minutes only. Then the distance travelled by the
train, in kilometers, is
2.8 Ben Hodrgo 40 8.0, IK0S' Posred 'y 85 Argd) 11 ddndren sodgorr Do,
e Kob& 50 8.5, FKos8' Boirsdh ©8 KSrgd) 5 ddwTen Ir@Ed solgor
Brgooinod. wHYE Do @ESre30dS Erdo, 35 bges”,
&) 20 (2) 30
(3) 40 (4) 50

27. The following table shows the marks of the 20 students of a class in Mathematics. Then

the average mark of these 20 students is
Marks 80 85 90 95 100

~No. of students 2 4 7 4 3
a..‘g-ééﬁzw*a 20 008 dTghHo ﬁeﬁd-rgoﬁ‘ S8 Srdyen AiHI BQES* qopd.
& 20 $:08 dorghe Bk 0oy,

Sy 00 T 80 85 90 95 100

Dorghe Hopg 2 4 7 4. 3

(1) 89.5 (2) 90 &) 90.5 4) 91 P
8c
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An article hg _ .
= each ins‘teau:k,‘.1 lszf‘“.kC“ price Rs. 3600. By giving two successive discounts of 10%
R giving a discount of 20% on the marked price, the gain of the trader,
) é:l) g
; o;f) BSES §6 3600 . crp 20% B8 BCHEIT 0% Tiys Jok 6B
083 [h0 o $EHAE STy ereo, ErPAOT,
F_____(j)_ = 2) 24 "13) 36 4) 54
rage 11 & 7 1
29. The average of the least and grcatest fractions among E’ E’ g, l_i is
'Mo"s"&)}a"l_a" ™Y
e g s OF 803 Mbcn oy Haye AL
ol 41 51 , 41
1} "7 — = .t
30. If a and b are positive integers such that b < 100 and 72.48 = a[24+-l-ga) thena+ b=
33 Jrgosten 4, b e, b< 100 58050 72.48=a[24+1—g—0] egenrT G508 oIy
atb=
(1 15 @ 17 3) 19 4) 21
31. The greatest five digit number which is a perfect square is
PO BSES0 @5—335 88 DY ©ooald VO8O Jopg
(1) 99856 @ 99225. - () 9672 (4) 93025
: At
3. 162+ 172+ 188+ T30 | i®
(1) 6215° (2)::7125- - 3) 8215 @) 9535
13 A B and D can runl around a track in 24, 48, 60 and 96 scconds respectively.
' i??g??;:ﬁssta’rt ;t a'point p on the track simultancously. When they mect at P again for

0650 50 9 , Gy gl @

the second time the€ qumber of rounds made by C-is

LB Deb et Le;»ﬁ simg; S 24,48, 60, 96 DESS* HERGHOD,
Senodd ;55@@ g DoD PIE K008 Bk FoRomd. 80N Toddr PS¢
Fosdr D850 & o8 C B B Bowg L -

@ 1, .

Wy 12 . i eC T
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If 2 is any odd integer nluﬁnr than 1 then the largest natural number among "w following
that certainly divides r.(n -1)

-

4 2 3 ~ AN oeR < . pare¥ | -
neI8 1 508 EEI JQN ,:&écs,a LANA J0d QS nte==1) mx}};ﬁon“ e

4 }_,«: 30 (3) 3o (H N

VY
V]

The total number of divisors of 2°3%3% is (ncluding 1 and the number given)

27375 Gy, wrase (Fdwrere) Sopg (1 ook aR Sopgs’ SaedeR)

(1) 60 (2) 0 () 100 ) 120

ged =12 and Lean = ST8&E IEx, v > 12, thenw +y =

W

Two positive integers x. v have thew
Bod SRyToster X, ro A = 12, SN = SIH, 0> 12 soxd, syl vk

(1) 744 Q) 684 (3) 316 ) 420

37.

The traffic lights at three different road crossings respectively change alter every
435 seconds, 75 seconds and 100 seconds. Ifall the traflic lights change simultancously at
9:25:00 hours, then the time at which the lights again change sinultancously

Ao $ocS 55 e300 3§ WO Ty SHIM A5 1KY, 75 DEY Hooake

B W
-

05 Siv o329 9:25:00 Sobed J0d, ed X

L o~

m’
o
C
G,
. g
éj
7
(4
1.9
G
un

a:%&s 3B BdodSw
(1) 10:03:00 (2) 9:30:00 £ 9:40:00 () 9d0AS

38.

L.C.M. of two prime numbers @ and b, (@ > b) is 319, Then, a - 20 =

Bodks warag Sopgew, a0 b, (a>h) o L HE wiyd a- b=

. -8 Q@ 9 G) 8 w7

| : The least number which when divided by the numbers 12. 16, 20, 25 leaves - as remainder

'but when divided by 7 leaves no remainder is
:&oa:ge:: 12, 16, 20, 25 o3 FHoRI[PS Idw 4 dodar 78 ORI RRRW
SK0T $038, ©8IN) JoV§

(1) 14006 (2) 208 _®) Sap S

———— R

10-C
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9

AR-

——— .
e Er— LY -
e — = 21 D] there - -
.= D F i gl j ‘0-__-"!§ L
-, —
—z o = ST Sy o gy = " e
i et S B8 Y 7 — - ) .-____..b‘...‘_ - ‘1
b - 4 LI, 355 o= =88~y 5555 oo —vd,p. q<~ 505‘ :) u.JG-i
-
e T, T T A
L pilimm 0~ B O el Simage TS el
T . et Dt U2

Led
|
g

0

LI

le to Q at a profit of 5%: Q sells it to another person R at a profit
other person S for Rs. 46305 by making a profit of 5%. Then the

oost price of the ""llcle (in Rs.) for the first person is

Pus 275 2% 335 Q8 3% o nd ey Qv SRFS RE 5% oes RTY,
. (¥ aa) s Ty = = = — — T - - Yan Ky FaaX 2 g

—r REfes g 26305/ £& S& elo; 3% oo Forrd. © 9 TnaS g8 §X)

“

11 2 school. the ratio of the number of boys and girls is 3:2. If 30% of the boys and 20%
g eirls are scholarship holders, then the percentage of students that do not get

o
Qi U

-ﬁ__.......-._....ir) =
o £y = = -~ o 0
L & e et prenlo SPOCER/TUED Nl P 2 zendows® 30% 0088, rdsewds” 20%
- = L ET.E N Orrotiaey =A%~ =
22 A ofn &oB. AR ESRD TR STiGe ek

{1y 80 2) 74 (3) 20 3 4 26 -

\

Lad

coins of Rs. 5/- denomination, n coins of Rs. 2/- denomination and
= ’mdcmmnanou whose total value is Rs. 630/-. If m:n:p =2:3:5 then the
P coins i;;' Rs. 11 e Of RS. 5/-, Rs. 2/- and Rs. 1/- denomination coins in the bag is
rzt10 of the total ¥
L 'Qf‘i::‘ -:a.'.;) m, &> 2/- DexsSKer Den n%bcs & 1/- dendde

5 & 630/ soxy &a. monzp = 2:3:5 o8 & 5/

_.--:ﬁ ;.:H-)jo Dzﬂ
= DB
—Fe 55480

@) 5610 B3) 10:5:6 @) 10:6:5

Se g

N 11-C

https://www.careerswave.in/



https://www.careerswave.in/

AR-2 | Booklet Code : C
44, Ifxyz=789,then £.7. %2 _
Yy z X
x:y:z2=7:8:9 wona, -@‘:)jd: L
y z x

(1) 72:63:56 (2) 56:63:72

(3) 648:448:44] 4 44]:448 : 648
45. x,y,z are positive integers such that x° + y3 +272=8072. Ifx;y = yiz=3:2,theny=

§5 FTOFTW X, y, zen, X + ) + 2 = 8072 edoginanon, xix = yiz = 3:2 ©o0d

wdydo y=

(1) 18 £) 12 (3) 8 4) 6
46. Two positive integers whose sum is 143, cannot be in the ratio

\

S0t 68 JrgosTe Sndo H3wond, ¥ Sopgew Bod INBS* G0k

w21 (2) 83

3) 67 @) 49

3. (7). &5
47.:1f 8 2(27) : > =27 .3" then a:bh =
(36)7-9%-(18)
8°-(27)*-6°
.,( 4) 5 =27.3% wond ONE a:bh =
_(36)" -97+(18)

(1) 1:8 (2) 72:3 (3) 81 4) 32

48.

Given y is inversely proportional to the cube of x and that y =2 when x = 3, Then the

value of y when x = ;]:, 18
y o386 x B0, DTS D@*ér::g;‘;aéo@s Godar, X = 3 wonIdPE y = ) -@@&@dfa
RE). e;mjcsa x-E @onéqjcsa Y dens

1) 234 @ 34

' 4) 432
- () 4 @
12-c
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X _¥rE ) .
49. If - = = and /, m, n are any positive numbers then these ratios are also cqual to:
:&E:% -;_ 0800 /, m, n e c}Sé Sompgen wond Gy §ob TS & AYROW
ééﬁémcﬁogﬁ
| !
M 1%x? + m?y? +n°z* 2 2 X +my? +nzt 2
la® +mb? + ne? 12a* + m*b?* + n*c?
!
-, . +my2+nzz 3 " Ix? + my* +nz?
©) 12 G PE Ui ( la® + mb*+ nc®

4
50. If55% of 880 is 80 more than 3 of x, then x =

4 > ~
880 &5* 55 wéfo x &S° 5 Sod 7 80 2893 @008, edyd x=

(1) 202 (2) 303 (3) 404 4) 505

51. If the number 19585*2, is divisible by 3, then the smallest digit in place of * is
dowg 19385%2, 3 3 orhosndd, eNyd * IS’ God ©d ) ©os
(n 7 ) > (3) 2 £4) 0

52. Ifthe number 45135%2 is divisible by 8, then the smallest whole number in place of * is
| Howg 45135*2 g & erhodndd, eiyd ¥ FEins’ &0t ©d DX g domg
02 |45

(1 1 @ 2 @) 4 4 6
- .
th October 2008 1S Saturday, then the day of the week on 28" May 2014 is
3 _
B ?;)4 MC Ode 2 Wednesday ~ (3) Friday (4) Sunday
onday

33 28 5 868 wdlg
g A5 B8 #Rwdo waxnd 2014 5 505860
2008 3 HoSEB0 FE?

o]
) pogdo () HEgado (4) uséado

(1) ;af:amcs‘//,,,/\
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| 3 hours, when the minutes hand and hours hand coincide

54. The time between 2 hours anc
is 2 hours .x minutes when .x =
2,3 Koo S355* Kobodmes, SNV :.3;3:.:0” rﬁu:.:;&af';‘:& 93650 2 fobie X LB Oy
£
80 60)
120 . 100 3) — 4 =
(y — 2) — .
1 ST H i
55_ The minutes hand of an incorrect clock overtakes the hours hand atan interval of 63 minutes,
Then the time it gains in a day, in minutcs, is
o € 5859 KBOSTE0S® DSnre Snwy B8 03 ddvross 830 fobw dnwid ond'el,
SB9 2802 & KBoirdo oyl 5700, AT,
8 6
(1) 56— (2) 39 (3) 54 “) 48—
77 I
56. Two trains of same length 80 meters, running in opposite dircctions with same speed
cross each other in 3 seconds. The speed of each train is (km/hr)
28 2439 80 Dovrdh Ko Bodko B 28 K0S’ GBI Holredly 3 DEDwS” w8
59 258 o338, & 3¢ Ko (8.2/K0.0S")
(1) 66 (2) 78 (3) 90 4) 96
| _'5'7.;' "Two persons A and B are 45 km apart. If they travel in opposite direction to cach other,
they meet in 3 hrs. If they travel in the same direction they meet in 5 hrs. If A travels
faster than B, then the speed of A, in kmph, is
G 55800 A S80S0 Bew 45 8.00. &rdod® Gan)h. a6h 2,808 JEBEE ¥
@osrel) 3 Hobes® EeolBolrd. 3% o 63 (Hosred R 5 fobod® Fudfolrd:.
B a7 ASKorr ($c5re8 R, A B0, Bro, Kotk B Dobafs”,
(D). 3 g (2) 6 3) 12 (4) 15
58. Acar feat:héd a distance of 340 km ip 4 hours, It travels some distance at a speed of

90 kmph and the remaining at a speed of 6 kmph. Then the distance travelled with the
speed of 60 kmph, in kilometers, is "

w8 58 340_@.2)3. &o) 4 "‘0535,: D608, wo £03670) Kot 90 8.8, Inos',
DAOS Kroed) Hobsd 60 8.. Srogt g, (HosreBoDod. Wy Kodrks 60 8.0, Jrod’
Bosre30Ds Erdo, BS' DL,

(1) 40 (2) 120 (3) 240 @) 300,
... e _

PR
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BB 59 5 508050 60 3 [}6-{1&:50 aa;mé')a’}soc%.

= _-__'_'-‘——--—_._________
No. of students passing Pass Percentage

in the examinations of students
DgoS* e wand S8R wans
Do Bowg DTHe Tdo
360 20
520 80
540 90
| 420 70
The total number of students appeared in the examinations is
D0Een | AT ghe Ingo Jomg
(J» 1840 (2) 2400 (3) 3200 (4) 3650

60.

';'}}c total number of students who failed in the examinations from the schools Q, R and
1S

Q39,90 Q, R 50805» S %008 d8g0s” ¢dten 520 Swdo ATgEe Jowg

(1) 370 (2) 320 (3) 260 (4) 240

61.

(1) 450

P lends Rs. 15,000 to Q for a simple interest 8% per annum and Q lends the same amount
to R for a simple interest 11% per annum. Then the gain of Q in 3 years, in rupees, is

15,000 rrahHess Fensd 8% Erd58a Sens Q8 Pudy amyk $0a%0 ©d 820y %0
Fenko 11% arsrdg 5§ Send RE Qolym aunyk. edydd 3 oddred, Q8 S5

ergfo, Errodes’ i
| (2) 900 (3) 1350 (4) 1800

62.

In 4 years Rs.

6000 amount became Rs. 8500 for some rate of simple interest. Then the
period required for Rs. 1200 to become an amount of 1825 at the same rate of interest is
n ’ I’. i

(2) 6years (3) 4 years 4) 8 years
Sasody 4 BOBHTD Fog 8y 5005 aYSIyL Boodo
o8 SEOLNS ©den 1200 graraben, 30E0 1825 SrdraHen

(1) 5years
eiseo 6000 67O
8500 Srarasoen @OV

4 o300 S
Sebd B 2 ik
BIERAGE" @) 6 POJHT O (3) 4 HoSdyTew @ 8 dogoTen

e
(1) Swosgyme? TT
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A sum of money becomes Rs. 1,08,000/- after 3 years and becomes Rs. 1,92,000/- after
9 years on same rate of compound interest. Then, that sum of money is (in rupees)

§od ﬁrén&a@ WESG T 3 DosgBsnest 8. 1,08,000/- e, 500050 9 HosdEsned®
8. 1,92,000/- @088, WY & Iy (Brrohes?)

(1) 96,000 (2) 90,000 (3) 85,000 (4) 81,000

64.

A sum of money 1s doubled at some compound interest in 8 years. The number of years in
which the amount becomes 4 times with same rate of interest is

2.8 50y Fod SESFEL0F 8 oSG ined® Toboden wHHod. ©d BESG Bend’
& Ry Teofioder ¥3EI8 5SS Bod)Sne Sopg
(1) 12 2) 14 (3) 16 (4) 32

65.

An amount of Rs. 5,00,000/- becomes Rs. 5,51,250/- on some compound interest
compounded half-yearly in one year. Then the rate of compound interest is

a8 Boogsn &r. 5,00,000/- Fod SESE D 08 ©F00S58TI8 SESG T ILBF, o
50SEEE0I &, 5,51,250/- wansh. ©DyE SESE St
1y 12% 2 10% 3) 9% @) 8%

66.

A person invested in three different schemes A, B and C at the rates of simple interests

8%, 10% and 12% respectively. The amount invested in the scheme C is equal to 225%
- of the amount invested in scheme A and is also equal to 90% of the amount invested in

scheme B. If the total interest earned by him in one year is Rs. 48,000/-, then the amount

" the person invested in scheme C is (in rupces)

28 $58 Sards Fbgh &y Soen A, B 000k C o S63m srdssd den 8%, 10%
éjf}oin 12% 0&° ingad Do d. S C & DS Eea) a0 A S DG dayeS*
225% &' J8r$50 Hodcs» S B &* S G’ 90% & SSrIS0. 28 SoS)EEw
S8, & 5588 &, 48,000/- 3ogo 5§ 57, weH B,S CS&* DS Bndo (Crdrohos?),

(1) L,70,000 ©  (2) 1,830,000 (3) 1,90,000 (4) 2,00,000

67.

- A Bank lends Rs 30,00,000/- to a person P at 12.5% simple interest and Rs. 10,00,000/-

to another person Q at 10.5% simple interest, for ¢ years. If the Bank received an interest
of Rs. 16, 80,000/~ at the end of the period ¢, then ¢ =

o 33“50& P oo 5588 8. 30,00,000/- o 3838558 12.5% 538, S08a%0 Q@m

—————”-"l’—\ :

3588 &, 10,00,000/- ©% FIrI534 10.5% Ty, t doSEINOH By aHeb.
@ sw:'m (5D oW S8TS Wso&éo &r. 16,80,000/- $& 58, vy 1=

1
o Men G 2) 3 -
M 23 @ 3) 35 4 4

16-C '
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68. Two persons A and B undertake to paint a house for Rs. 54,000/-. A alonc can paint the

hous¢ in 40 days and B alone can paint the house in 45 days, A and B along with a third
person C complete painting in 20 days. Then, the share of Cis (in rupces)

A 30005 B o agdh Sgie, o 2038 Sord So0ERE 6. 54,000/ o 253870,
Aed)d & 5 40 Fweos® Sohsod, 2005 Bafd o D 45 s dckhod.
SordS 558 CIHcs0d, ASbasn B e, Rot3d o Johdsn 20 flared® g BT,
wHyE, © TS C Aog), - (Erdchos’)

(1) 6000 (2) 5000 (3) 4000 (4) 3000

69.

th

A person A takes 7-;— days to finish B of a work then the number of days required for

A to finish the complete work is

5 1 -, 5
a8 558 Aa¥ S 3 S S0 HAY 75 Sarst rf Bodfod. & ogo I I8

BoHE 8 A S 575028 Sare Sopg

(1) 9 @2y 12 @) 15 (4) 18

70.

cther can complete a work in 20 days. B and C together can complete the
same work in 24 days. The work was started by A and he works for 8 days, then after
B works for 11 daysand C completes the remaining work in 22 days. Then the number of

days required for C alone to complete the work is
A 508050 B en 92 28 I 20 Faros* rodchiiod. B Soan Ceo 50 wdddd

24 S rododied. © HAD AI0Ee0eY 8 Slaren 5Bk, SHTS 11 Garen
B 538  Sod DAOS BV, 22 Fwost Cirg B, oByd, & 33 Ca53

5r8 Bodmds Sodd Owe Hopg
(1; 40 (2) 36 (3) 34 @ 32

A and B tog

1.

Jete a work in 40 days. A sccond person Q can complete the same
35 days Both P and Q work together for 14 days and then P goes away. The
work in ays.

mplete the remaining work is -
hat Q takes t(_) cor
number of days t o 40 Cwos® Fidchrud. ©d S, Q v 088 558

A person P can comp

59
P o of 555533;:) oo, P,QE0 B BB 14 Gaven 5 BHS $0T, PGS
35 sfesaeje;‘aoeg.:s PpRLY: Q b8 Gloreny _
@ 13 3 \

1 :
1) 12—
17-C
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Twenty men complete a work in 16 days. Twenty women complete the same w.ork in
18 days. Ifall these men and women work together, then the number of days required to

complete that work -
L€ 529 20 508 Jhoes 16 Sarod® Bk, ©3 HI, 20 Hob Qe 18 Sereres® B,
& HEtoes, Heo VoSt 8% HITH, © HID I Bahads SHoNS Earer DOPS

! 8 | 8
1) 10— 2)  D— 3) 9— 4) 8—
S = 17 ) 15 17

73.

A person A can complete a work in 15 days working 8 hours daily. A second person B can
complete the same work in 20 days working 7 hours a day. If both A and B work tc_ngethcr,
working 7 hours a day, then the number of days required to complete that work is

2§ 558 Az8 DAV E'ard 8 Kotoen DAV 15 Sarerds® Jro oo, ©d HA Bodd
548 B, 2r8 7 otaen 338z 20 Sared” Jrodohred. ASdcn Bagd §0d a8
7 fotaen HIVD, VB © HI YPHBHEIE THOVS Tare Jopg

5 3 6 l
il il 3) 2\ 4 ol
(1)' 813 2) 913 3) 913 4) 10‘4

74.

Two persons A and B can do a work in 24 and 30 days respectively. After working together
for some days, A left. B finished the remaining work in 12 days. Then, the number of

days that A worked is
gL Sg8e0 ASo8asn Ben 2.8 HIN, SEBT 24 B'eren 0805w 30 Feres® JroBoHKL .

986> §0D FR) Geren DS SHE, A IPFoird. B DADS DA 12 Fareds®
FoEFh. ebyd ASITHS Gww
@ .3 @ 9 (3) 10 @y i

7.

A merchant marked his goods 25% above the cost price and then allows a discount of

1 5__%.' Then the profit percent in this transaction is

28 S48 &8 ShHoso FHTo 53 25 w0 I8y S HEBoD T 15 TS0 ARyl
I, & RIS’ IS erdTEo |

76.

()65 @ 10 3) 12% @ 15

TI}Z Ifj‘mi}i{t':azl?gg ?hselli;lg an ?ftide' for Rs. 2500 is equal to 7 times the loss if the same is
S_O :)r ' - Then the selling price of the article, in rupees, to make a profit of 20% 1s
- 5§§a§2§§5$li:&§;mﬁm QorB0d ergo, ©d 5209 & 2100 % @‘-’n&éo
oo ST 2% DArdo. wdves e S22 20° FoSTO8 & FHHS
wSSORS 48, Erdabes’, J e o e X9

. i o < (3) 2620 (4 2680

___---‘-—-‘-"""-——
18-C
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77. A shopkeeper sold an article at a certain price. Ifitis sold at 80% of that price, then his
loss would be 8%. Then, the profit percent at the original selling price is
ol BRI E6, ok S0P Fod 38 EDQJ&JJ’C"JJ. 6 5055, = Gdo* 80% & .5;);&;3
038 8% SJ800 52908, wihyd, wEIE WO VI GES* SS wrgfzdho
(1) 20 (2) 16 3) 15 (4) 12
78. A person A purchased some pens for Rs. 350 and sold them for Rs. 450. Another person
B purchases some pens for Rs. 540 and sold them for Rs. 660. Then the difference between
their profit percents is
a8 338 AFR) DYoL 350 driek FI 450 Erio wlned. 568 338 B 89
&ed 540 Eries £ 660 Srrahe w0 d. T8 edrae iy Hso
400 200 200 200
Ciiiaiicl skt e o
m = @ 5 @) @ =
2 : : G
79. A person travels 3 of distance x km with a speed of 4 kmph and the remaining distance
with a speed of 5 kmph. If the total time taken for the journey is 56 minutes, then x =
28 598 x 8.0.08° % S0k &roR) K08 4 8.0 Shed'Sr, WADS SroeQ) dobd
5 8.5, BKoS Sr (Hosrdomrdy. B0Eo WASrerd8 56 ddoren 80808 x =
(1) 2 . @) 3 (3) 4 4) 6
80. The nearest year after 2000 having same calendar as that of 2000 is
2000 poS&y8o SU58 @8 200030085 fo $doH HoSH)50
IQ
(1) 2008 (2) 2016 (3) 2024 2028
&1. A person put one coin at 1’0 clock, two coing at 2°Q clock, 3 coins at 3’0 clock and so

on. in a box. Then the number of coins he hag put in the box between 6.30 AM and 6.30

PM in a day is
wB Hg8 DBoodao wO
Sordhy Bod T

18 Kobabo 28 TR, Bodh Kobrerth Dotk THOR, S Hobwd
4 0,6 Gery® DTR. wEG st @y Gopo 6.30 S08 oo 6.30

6o Lamest S 0B T ROV
(1) 2:3‘;J 2) 42 o ) 60 \/@ 78
/——’——_\‘ : .

19-C
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The following diagram shows the expenditure of a company on different heads A, B, C, D, E in
the ycar 2018. Based on the information given in below figure answer the questions 82 and 83.

2018 $ HoSBoS' DG Sen A, B,C,D,E o 28 S0 Qg ) ST O & §ob
Qo SrPHSod. alyd Jirwrdo wrdorr 825 £0050 83 5 BHKH SSrgTSged.

82. If the amount spent on head A is Rs. 90,000 more than the amount spent oG, then thg
amount spent on E in rupees is

36 A 2ENBRS Indo, B C wd) DS Iwdo 85 90,000 & 89,33, D6y B
303 &), drdoe’,

(1) 95,000 (2) 1,00,000 W3)  1,05,000 (4) 1,20,000
83. If the amount spent on B is Rs. 1,96,000, then the amount spent on A and E together, in
rupecs, is

5 B B3 ady) 1,96,000 & wad Sen Addadw E 0 3080872 §92 ns)uidd

3wdo, Erdrady,
(1) 3,92,600 (2) 4,08,800 (3) 432,600 14 4,65,500

84. A dealer gets 10% of profit after giving 10% discount on the marked price of an article.
If the cost price of the article is Rs. 9000, its marked price, in rupees, 1s

uf gD of S0P B, PS8E Jop 10 8o A0 )& SHhS 10 7o ergfo
oo, 1 3P FIHIo 9000 &ri ®ond, rd PESY o, rFrados’,
() 10,800 (2) 10,890 (3) 10,900 £) 11,000

85. By sclling two items each for Rs. 600/- a trader gets 10% profit on one and 10% loss on
the other. The result in this transaction is -
(1) gainof 1% (2) lossof 1% (3) gainof 5% (4) no loss, no gain

Bod SHYedh u8) o) & 600/- & ey, 28070 10% ergo, 8T 10% S0
SNod. & ezda 080

(1) 1% oo é) 1% S50
(3) 3% erdo (4) ergdor S8, S{3r B
=S Ak . oy
20-C
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86. Consider the following statements.

A. If the radius of a sphere is increased by 8%, then the percentage increase in its
surface area is 20.86.

B. Ifthe side ofa cube is increased by 12%, then the percentage increase in its surface
area1s 25.44.

C.  Ifthe radius of a circle is increased by 16%, then the percentage increase in its area
1s 34.56.

The correct statements among these are

(1) A,Bonly (2) B, Conly (3) A, Conly (4) allofA,B,C

80d BISTen B8KB30508.

A o8 B¢ ogado § 8o 2BAE, T &d0de ITog0d" DS Fdo 20.86.

B. a8 Hodo Bwg), zhzmo 12 wdo 0B, T &38de Iregos’ oL
T¢$o 25.44

C. 28 5¥ o>grdo 16 =€o 20A8, o 3Tog0s” DHDSL TS0 34.56

& BSSTS duDoBD

() ABSrd () B CSgd (B) A/CSmgd (4) A,B,Cev e

K

87. The area of the regular hexagon of side 12 cm in square centimeters, is
12 %0.20. ghazomr o E ééj:)a% IT 050, $EEY _’,ooéﬁﬁ)gbéﬁ"
(1) 21643 2 36V3 3) 63 @) 14443
88. The area of a rectangle is 6 times that of a square. If the length of the rectangle is 16 cm
more and the breadth of the rectangle is 8 cm more than the side of the square, then the
perimeter of the rectangle, in cm, IS
2.8 BEBLEEH FTOLO: 2.8 WGP TGS 63, WP shao SEJSI S FRIKe
53 16 20.20, 56:5&’336@.0 Jdeny 8 o, J)éozréowéi o B IS Ro RNiRFe,
No.a.06%, - : 1
() 40 vat (2) 48 3) 96 @) 80
s ———— ' . : . see .
89. A rectangular wood piece of dimensions 8 em x 6 ¢m x § cm is cutinto picces of dumensions
3 — 3 iy % .-l: cm. Then the number of picces are
4 8
8 0.5 X 67002 X x 5 200.00 FOBLMO L8 G iy FoBSNED
2 2020 X 3 0. ,E',\) x "l' 20.00 FO80 fio Sug ey 5D, iy © 30§ o Sopg
4 8 27 : (3) 29 (4) 2“
(1) 23 (2) .

https://www.careerswave.in/



https://www.careerswave.in/

AR-2 Booklet Code : E

If a right circular cone has height 56 cm and base radius 42 cm, then its curved surface

90.
area, in square centimeters, is B
’)"i)
Take 71=—
( : 7
-8 wou 5D FopodH Swg) I 36 0.0 $0c SrargPGo 42 0.0 SoXB Wy
S8de ITogo, DIY Dohbrges®, l ) ‘
22
(:’T= T ot (‘30&35‘0&]
() 1320 (2) 2640 3y 4620 (4) 9240 i
91. The cost of a fencing around a circular field at the rate of Rs. 45 per meter is Rs. 15,840.
Then the area of the field, in square meters, is
(Takc ﬂ'=£]
7
2. S)@56 oo wtay Dbkt 45 & BLos §08 Schga ¥ Dby pdo) +5B40T
wowd, & g0 BTogo, BSEY LY,
(:r= % m é”’m?o&]
(1) 9856 (21 4927 (3) 1408 4) 2816
92. A wheel makes 60 revolutions in covering a distance of 990 meters. The radius of the
whecl, in meters, 1s
2
(Takc zr=:z)
7
990 dodady drdo FSars w80 60 Fheres BB, & JEY TgFgo, Mobode*
(zr= 2—72- m ésﬁbg‘o&)
() 2.125 2 25 MB) 2625 4) 2.75
93. The volume of a cube in cubic feet whose total surface area is 486 square feet, is

486 $E8Y wdihen 0TS ITetor Ko w8 S0 G0, WIH0Srmo, WY

@cﬁm“b?)ﬁ‘.
(1) 216 (2) 343 3) 512 A4) 729

22-C
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94. By what percentage should the radius of a sphere be increased so that the volume increases
by 200%2
28 AP¥S0 g, DIB8Sr0 200% 28mreod ool aﬁgﬂvo;anl owrd)d Tdo
1 (B-1100 @ (V3-1)100 @) (¥B-1) @ (V3-1)

95. The length and breadth of a rectangle are 100 cms. and 60 cms. If the length increases by
5% and the breadth decreases by 4%, then, the error percentage in the arca calculated
from these measurements is
a8 OEBRERS0 B, FEH, 3oy 100 0., 60 No.do. FEYH Fods
5% 06008 e, SaBas Sdeny Sods” 4% SSH%de God, VY 6 Fododdariod
K308 & ég)z:ﬁé&:d@’)‘{g} ST OINS* FRFTSI0
1) 14 @) 12 3) 1.0 @) 0.8

96. The sum of all two digit numbers which leave remainder 4 when divided by 11 is
11 3 zrpowsm 4 3ho ST doks wosw dopge Iwgo
(1) 15 2) 92 - (3) 400 4) 428

97. Ifin a leap year, January 8" is a Sunday, the day on August 15" in the same year is
(1) Monday (2) Wednesday (3) Friday (4) Sunday
2§ &Y DoSg)Boes® 2550 8 BT B0 ©ond ©f JodH)Bos” vy 155 8 wdhysia
(1) &FSar8o () exndado (3) HE~do (4) wdz8o

98. IfA earns 50% more than B and B eams x % less than A then x =
B g0 A, 50% J83,S 0B, S0050 AgoB B, x % S5 5 DorsE wlyds x =

7 1
(1) 663 @ 333 (3) 50 4) 25
99. The largest positive integer k such that 12* divides (109)! is
(109)! 12X Do arhoBénd) A0G &3 Jpgroko k=
@) 50 2) >l (3) 52 (4) 53
. e ..
100. The number of positive integral divisors of 37800 is

37800 Gurgy, &3 TGOS THTO BOg
1) 24 _ ﬂ) 96 (3) 120 4) 180
_/—,/—_v_

23-C
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In questions numbered 101 to 111 pick out the odd thing among the given items.

101 3006 111 388 Somgen Ho HHoest ad)d TS 0P T°R) Job¥ Fahod.

101. 15, 35,99, 143

(1) 99 @) 143 (3) 35 4) 15
102, 56,34, 14.7

( 7 L@ 14 (3) 34 4) 56
103. D IYTY

() I 2 P @ T 4 Y
104, 9,49, 81,121, 169, 289

(r) 49 (2) 81 (3) 121 4) 169

e, e A
105. ZA, YE, XI, WO, TU

(1) ZA (2) XI (3) WO “ TU
106.  343,1331,2197,4913, 6859, 9261

(1) 343 (2) 2197 (3) 6859 4) 9261
107. 1156, 1444, 1764, 2430 |

(1) 1764 (2) 1444 (3) 1156 4) 2430
108. Beetroot, Brinjal, Carrot, Potato

(1) Potato (2) Carrot (3) Brinjal (4) Beetroot

DHESErES, Sosa, 5°§0¢E5, 20mE o

(1) wormr¥dros (2) sgo8s €3 SoscdH (4) DSBxeS
109. Reservoir, River, Tank, Watershed

(1) Reservoir (2) Watershed (3) Tank (4) River

serdoho, 58, DY, TLERs

(1) medobo () TO6RE  (3) amy @56
110. 21Y23X, 13N15P, 9J11L, 5F7H ”

(1) SF7H 2) 9L (3) 13NI5P @) 21V23X’

| . -
111, TOT2, UF06, VEZ2, ZA26
T ZA26 (2) VE22 (3) LOI2 (4) UF0e
T A g T e e |

24.¢c
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1 questins sumbered 112 to 114 you find on the et 1wo temms/group of letters which have
2 relaton Betacen them. F :]! ar’c blznk on the right with one of the options given so that the

terrs/groep of letters on the right have the szme relation 28 tze first two,
- = - ’ . L I - - gy o, e o, -
;12 u;'aa- !14 v.J,’..:f:.. ] "f(",i‘_‘,’_;‘ wﬁ;’,}é;} '_,”i; f.f.«?:faﬁu £ Tudo ot t’/.ff;/_. ESEb) 510:40;53
Loty CA Tumnle, 4ok SESGN ¢ tresl oh0 Linmehod 6, =80 GreosnE
2035 2l B0 304 w4T0 JohE Bokod
Sor = o

112, FILM 2 40 52 MILK - B

(i} 45 (2) 50 B) 55 @) 60

L*" pe S -
113, MAIL PIUN: :TOUR:

(13 VUIR 2) WUET 9% (3) VAIR B WAET

114, CAST :43::RIPE: B
(1y 36 (2) 46 A3y 48 (4) 56

115, Cheose 2 suitzble option to fill in the blank given below:
Schonol @ Head Master 72 College : Principal o2 University :
(1) Ciovemor (2) Chancellor
(3) Wice-Chancellor (4) Director
G Bot ol Lpbutions 25 Sipplnk JolEok.

e | GO yuiat: L BTTY L TS 1 D7IT sO50 :

(1y r3686 . | (2) Boobhs
4) Hooreb

116. Choose 2 suitable option 10 fill in the blank given below:
Amritsar : Golden Temple 22 Ajmer : Darga :: Hyderabad :

(2) Macca Masjid

(4) Falaknuma Palace

~Eodstobe “'3 :".:;é;’m.ﬁ; Jo;’uﬁ‘o&.

(1) Chanminar

(3) Golkonda

& Bob b0 ©
45556 ¢ 4ol Awoiso » w20 1 Q-

-

P~~~
) Homy, DR
(4) Hesddr >8R

25.¢C
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117. Four figures arc given below. The next figure IS
Feold 7500 1808 RSASD. D ST S STy TS0y

J A

| 27y 5 N \

W (o= P % 3) f @ | X

In problems 118 and 119 there is a relation between the left two figures. Choose a correct
figure from the given options such that the same relation exist with the two figures on the right.

RHeo 118 H0c8n 119 0S° I6S ), aS Bodk FIe HEy 2.8 Sowodin &b, HE3Y
FA)S B0 F"H0S® ©TB HoWoFSN wodLIE wE "5399 S aFre Hod JoSod.

118_@ : @ | o

1 ‘n ) 3) /\

N FEE &

ug.<>} A | A
B N o oA

26-C
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Answer questions 120 to 124 based on the information given below.

In the figure given below the triangular region denotes the persons who read newspaper A. The
circular region denotes the persons who read newspaper B and the rectangular region denotes the
persons who read newspaper C.

Bod adyd dezodo werdormr 1205008 124 HHo 68 drgrTer @akod.
& BISS ayd HLod* Bhers s HBdo o B8 A SB30 drdHob. SEs s @ado
T B8 B D S0BT0D 608908, 0005w B SHEFTE Hd¥e Ty 5B C I SEITOI

SV TATSUICTAR
9’

10 . A

o/ (N 3 \'Q
| N
20

120. Number of persons who read only newspaper A is

T H88 ASr@d $B35°0 Jowg
o) 30 Q) 47 3) 54 ) 69

%

121. Number of persons who rcad both newspapers A and B is
o H@%e0 A $0050 B e 00808 IOIT0 Doy
(1) 45 2) 22 3) 32 @) 52

l2i. Number of persons who read only one of the newspapers A, B and C is
A, B 5608 C g H@80s” &' 288 Sr@d $83 370 Dowg

(1) 120 @ 135 (3) 145 4) 85

123. Number of persons who read all three newspapers is
Sy o HB¥or $83T0 Dopg

(1) 32 (2) 22 (3) 45 “y 15

124. Number of persons who read either newspaper B or newspaper C is

To 588 B8o T 288 C 563 0 Jopg
: 121 (3) 219 ) 14) 174

() 18- WP
27-C
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125, IF A denotes addition. 1 denotes multiplication, * denotes substraction and V denotes
Svisionthen 3«20 3 A8V 2=

-

Fo8feoTD A 3. Xavo) L 8%, $clgam s i

e A = 2jRFes LT P SO

TS QLIS 353y + S8, Bobasn > STy Vi
- - - [ -

R s Y e | ~ g [

T L o

St A6V2

)1(4) 12

126. From point P. 2 man rides a cvele 9 km towards East. Then, he rides the cycle 2 km
towards Nerth. From there, he nides the cycle 3 km towards East. Finally he rides the

cycle 3 km towards North to a point Q. Then the distance between the points P and Q is

8§ 358 Do P&ol, Srdn3Hs 98.2: ©8S S 288, S0, 8850358 2 8.0

2ES S EE. eH8 Lol EEnDhs 3 5.0 IS S e, 0563, 4550538

p-— (=3 - — i

3850 2ES 85, Do Q35D Shads. s3FE DodbFes Phsats QBdy Srss
— L™

8. . os5):

a) 17 ) 15 G) 13 @) 12

-'127. A person walks 3 km towards East, then walks 3 km towards South, then' wglks. 7 km

~ towards West and stops. The distance from the starting point and the end point is (in kin)

2.8 508 ST 3 8.5, SKTK, SHTE 3 8., SEINFY S, SHIE DEBZIS

-7 ébj 5&9;:‘\&5“&3. gD S88 Ivdes DES Dok So08 S8% £HTRS Dol
'-;"33{)5’635353-3 (8. . o)

M s 2 7 (3) 9 @ 13

— -
128. P+ Q means P is the daughter of Q, P * Q means P is the husband of Q. IFP +Q * Rthen
which of the following is true?

(1) Ris the mother of P (2) Ris thesister of P

(3) Ris the mother in law of P (4) Ris the brother of P N
P+Quod sgo Q§ %358 P, P* Qwod vo, Q8 58 P P+0 " Reon8 LB
§ob THS* V8 $850?

W PesgR - PsagR

@) PsegRr (4) P& &sodR
T
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which of the three figurcs from the following five figures A, B, C, D and E form a

squarc?
& o6 asgwas o8 sLERed A, B, C, D00 Eodtd Surds stiwes o8

SHoBBE0% ©5ETN?

@) ACD (3) BCE,

(4) ABEg

130.

(1) BCD

If the paper in the following shape is folded to form a die then

-

B

3
Ed
6

a) | lics opposite 6.
b) 2 lies opposite 4.

¢) . 3 lies opposite 5. '
Then the true statement(s) among (a), (b), () is(are) o i
(1) bonly (2) aonly (3) bandc

55835 580 28 IS BRSIyd

& (808 Erdoest He
4]

O\lUl | —

a) 8 s 6 Gotod
b) 28 D& 4 erotooB
c) 38 28m S &odwob
v o (HSBSS0(e0)
ank b), (c) ©&° coés.@ﬁ‘j _
36 (a), (), 5, i

&
(f)jbm&ﬂ: () adnE®

29-C

(4) a L8050 C
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131. Among the given four options, which one when placed in the blank space of given figure
would complete the pattern symmetrically?

sz)t)é H80e5° 7@ '{g@oé‘ 8538 aﬁas‘é T mﬁaé;ﬁwaﬁs (i ) G.—'J&’)JB'EOO s JHbo
Fadomr rdYdoed?

(1 @) 3) ©
J/

132. If the image of a clock in a mirror shows the time as 6:30, then the actual time shown by
the clock 1s

wgod® ¥ Khasrdo N, B8Dowo HHSrA) 6:30 m ¢V ey ¥ KdEF0
SorDod wden JdHcdho
(1) 6:30 2) 9:30 BG) 5:30 @) 2:30

133. If P is the brother of Q, Q is the daughter of R and S is the father of P, then how is R
related to S?

(1) Husband (2) Brother

(3) Wife (4) Grand father

Q & P &&dd, R & %5570 Q, odcsn P8 Sold S o8 ©DJE S & RASHes?
(1) &8 (2) RESE

m Shplely (4) edmrd
134. If A is B’s brother, B is C’s sister, and C is the mother of the boy D, then D is A’s

(1) Sister (2) Brother (3) Uncle .o ° (4) Nephew

B B, 6 A, C @ng), FEd B Sodasn areodd D 53‘305& g9 C, ®ond wdydd

D, A&,

(1) a8 Q) BFEEE By Srsacssgi A (4) peegad

https://www3Ifre€lswave.in/
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1335, Showing a lady, a man said “The son of her only brother is the brother of my wifc”, then
the relation between that lady and the man is

(1) the lady is a sister of the man’s father-in-law
(2) the lady is the man’s sister-in-law

(3) the lady is the man’s mother-in-law

(4) the lady is the man’s sister

o8 358 &8 |99 SrHdr “ud JFE FEHI FHH & TR Tk oot ek,
sowd © 98, 3388 Hodg Ko Sidlo
) s Ee. © 3588 Sromd 60

(2) © R = 3588 363 B8 Sodden
(3) s @; s 3588 edmrdd

4) o R s 3588 68

Read the following: - .
Six students P, Q. R, S, T and U sit on the ground at the vertices of a regi.llar hexag‘m}. Pis
neither adjaceny to Q nor R. S is neither adjacent to R nor T. Q, R are adjacent. U is in the

middle of S and R. ‘
On the basis of the information given above answer the questions from 136 to 138.

§od TR I fabinNebE
s JTgien P,Q.R, S, T3s8050 Ues Zep o8 $5 &dn2 So¥), 2630 38 BB
Q8% RokH 9§,S PE&. RSE T ok 39,5 S8k, Q Rew BEE8S &7t S,R o 03

8 t:rcjldn.

= $3rodo sodor RHee 136 %08 138 $8% 23-paren asgod

136. Who sits opposite to T?
T& d&sm J5& SrdyT®? | /@ .
@ Q 3) R ) U

(1) S
137. If one neighbour of Pis T, then who is the other one?
| P8 2§ L‘“;z,ﬁ T o8, woydd 008 BRS 50387
i 4
@ R B) U “ Q
I . o , S ‘

31-C
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13S. Which of the following is not a pair of neighbours?

(1) PandS (M) UandR
(3) QandT A TandR

& 1808 T8S* BEERE,S B zob AH?

(1) PXdcsw S (2) Ubacse R
(3) Q0o T G TS0co R

139. There are 39 persons standing in a line. When counted from left to right, A and B are at
t th i - ; 5 % s

9" and 27" positions in the line. If C is between A and B and if there arc five persons

between B and C, then the position of C in the line from the left is

39 006 Sg8yen a8 SHIST QD GIo. BB Sood K068 Hedoddydo Adlain Bes
SSdm 93 H00c%w 27 Syt . C ol S5g8 A Dbdain B o Sy dobar,
B S08a8» C o o0&y 28068 ;’Jgéygenoéﬁ, WwHPE &5 RS G Hod C qxg), 230
() 21 2 22 (3) 20 (4) 23

To answer the questions from 140 to 142, consider the following information.

Given that

U= 11,2 3y ¢ oy 300K,

A = the set of all multiples of 6 in U,

B = the set of all multiples of 15 in U and

C = the set of all multiples of 10 in U.
Let |S|, denotes the number of elements in a set S. Then

140 So0d 142 565 fo BHOS SEFTSINOKTIS & Bob DESIves blos'ol3
U=1{1,2,3,...,500},
A=US 6B0E), ¥) Hodere d8,

B =U &% 15 Bwg), @) hedero DB BoBosw

C=U&*d 10 Bwg), wd) federe JD8

©d adg@ss. (S| wdd S0 S G Brero Hopgds HrdB0dRR A, RTINS

140. |AUB|= -
. 0 %0 2 100 @ w0 @ 120
. (w8 - -

(1) 126 (2) 124 4) 120 (4) 100

142. The number of integers in U that are divisible by cxactly any (wo of ;'2_._':3,"5' is
2,3,5 o&" pdor BoBoBBE SrBHy prpoded U ;’qu;oﬁ‘i{ oy
(1) 25 ) 30 3) 35 (4) 24

32-C
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To answer questions from 143 to 147, consider the following mfonmaton
In a hostel there are 220 students. Out of them 105 readd newspaper A, 06 rened new spaper 13,
73 read newspaper C. 38 read both A and B, 20 read both Aand €, 21 peadd besth 1 amed € anel

9 read all three newspapers. Then
143 2008 7 380 So SHok 3demridndia

o8 338 o 220 5008 Jorpdies ASRRIK. 10U o0 € A S
(= - -
90 Sscd Ty BBE B & SoHord, 75 Sob 77 308 C R dloords A Locin B w

- - - » - 3 L . & o '
B80S 35 08 SSHIord, A 2oass C oo 30808 20508 shiPords, B Sdatn €

Bod08R 23 H0d Sdford Ltk Audo Sods I°T) S80I Y20l Sl L pie
143. Number of students who do not read any newspaper s

N e % oL b ol —_— ey A ey

(1) 21 (2) 20 3) 19 (4)

144. Number of students who read only one newspaper 18
3300 uf), T B8 Smgls Sa3 Ao Sopg

A) 141 (2) 151 (3) 147 (4) 157

s A p——— — — »a _.~..__‘
145. Number of students who read exactly two newspapers is
zSom o g SPse <83 ."Jr:.-‘sdjo Doy
(1) 78 Z) Sl (3) 64 (4) 58 .
R 2 i, .

146. Number of students who read newspapers B and C but not A is
o S|88e0 B, Cen ScoHdr A S350 Jogho womg
(1) 23 (@ 20 3) 17 A4 14

147. Number of students who read two or less number of newspapers (s
Bods B woda) 88,3 TT V5w S0l Jopgu fowg
M l‘)2 (2} 2{” N (}) 2![

W48.]In a college having 600 scienge students, 450 stugents are downg Physies, SO0 students
arc doing Mathealics zmd'fﬂl() students are doing Chengoiy UT'_ET:ﬁ-,; students 180
students are doing both Physies and Mathemagies and Y50 students are doing Fhvsivy sod
Chemistry, 200 students are s’l‘udym‘g ill! three stthjeets. then the tumber of studtents
doing both Mathematics and Chenstry i ..

600 40 Dipd TG DEEEENN LK dvpog!, 450 S0l AGRW T o,
500 Ss06 Domges fﬂ?."fi“ mb‘ﬂ” 100 520 xsnﬁﬁtgm ﬁﬂ‘i??ﬂfaq HARIH M.
0 #0 £ 50 Soutn dlde Budoly 130508 derrw

(4 159

4300 OC° qg
9953&3 K80 4500532 Sirodad a-L‘?;OfJJ Buduisy ‘553 :ia'sqgu A:riism.
(1) 280 B —
= Jw¢
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A misfit in the following sequence

1682, 1683, 1684, 1685, 1686, 1687, 1688, 1689, . ..
& (508 FGe° JOS o ow
1682,.1683, 1684, 1685, 1686, 1687, 1688, 1689, . ..

4

(1) 1682 (2) 1685 3) 1687 4) 1689

. In the following figure, the regions 1, 2, 3, 4, 5, 6, 7, 8 arc shaded with the colours

Voilet (V), Purple (P), Blue (B), Yellow (Y), Orange (0), Red (R), Green (G) and Maroon
(M) respectively. If the figure is reflected with respect to /; and then reflected with respect
to /2_. then the new order of the colours in the clockwise direction

Bod SrdS 3L Pdres 1,2,3,4,5, 6,7, 8§ ol S63m o Sord (V),

- |

Sosat Sorb (P), Deo (B), 505 (), 802 (0), 362 (R), sy (G) 508050 28rS

(M) Sotoos® Q08. & H¢rQ) B /| Hroa HTdESo B & /0T HTSES0 SRS Tey
3By oo ESoo dSg HFS®

(1) ORMGBYVP , ) ORGMVPBY
(3) YORGMVPB 4) VPBYORGM

- The population of a town at present is 3,00,000. The growth rate of the population in

: i 1 1
o .
successive years is expected to be 6%, 7‘2‘%, 9%, 10=%, ... of the present population

The expected population at the end of 8™ year from now is

28 3 BRS 250z 3,00,000. 2oz 53@6&.:0 ol0d) JoSeyore* Sodm [‘é"mé 2T
sEdormr 6%, 7—%, 9%, 10=%, ... m 3 ' '
0, . 5 Yo, 9%, 1 {5 Openss ﬁoéém:)éa TART. 8 ROJBY S0 S0

2T Lol T

(1) 5,70,000 (2) 5,50,000

ﬂj,?,o,ooo (4) 5,10,000 -

_---_"‘—-—-—___——
34-C
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s

ho starments given below

QUserve ¥
D The s of the taterior angles of d regular pentagon iy $40°,

WITOUENE i
W Bach tterior angle of a regular polygon otz sides is Ll - --] X,

B e
H

oo
\:T tE) :5.:.:'\“;". {E‘n ane t\":ﬁ true tl} U) 18 e bl“ ““ lh “llﬁu

¢ (D and (1) are both talse

- ~ -~ . %
Q) () s talse and (1) s e
300 RRTTON AoV,

-
£
ar.

Uy,
v
“

‘s 4o
138 wodSEwo Ll——]fr.
"

e
Y (D, (D 20 Do S50 (2 (DRGgo, (1) wdsgo
@) (D sssge. (IDdsgo (D (D, (1) @0 Bodor w80
ES3.
) 45 @ 25 (3) S5 v 6s
1 -t ' = TP TR —— e e s —
: __._..—-—-—--'__ - 1 =
el i ¢ ' the nasitinne and B from lelt are seventh and
34. W . nersons stand in a TOW the positions of A anc eve
134 Whenthror } ly. Another person C standing between them has exactly five

- r coUVe res CCU.\'C .
Oveny set S ong those standing between A and

s : £ Pis the middle pergon am
e erween Band C. 1 perso
persons bety

a P 6 he left is :

- nosition of P from ! ' 3 o

(.3 tfen't.hc Pﬂ s QoS BOBS* A B S S5Re QB[ o ;’:dai&n; DAES,

miamofi:wé‘ Y T S80S Doy €6 B 8 .:5::53263 ni()q"‘ R Sghgen

RIF 83 :pc ;55353 dund SgR pu«hds 558 ot WdSIY Dol PRPSY Somg
B -

——

(DB e
35-C
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o as the cost of 5 pencils. If it costs Rs. 34 for buying 4 pens

f7 pens and 4 pencils (in rupees) is
_"033‘\)% 5508 8>, 34 ewond

cost of 2 pens is the sam

155. The
the cost 0

and 7 pencils then

2 Do 39, 5 YY) 08 s5rd0. 4, PN, 7

7 D), 4 2H) FSerdEedyg P8 (ErraeS)
(1) 74 Q) 47 (3) 43 4) 56
S
hes its destination at 2:20 pm the same day. If

at a station at 1:10 pm reac
is 48 kmph then the distance (in kms) travelled by the train is

@30S Bew ﬁmg%maé @367 2:20 pm 8 B&08. e Ben
3935 Srdo (8.0.06°) -

156. A train starting
the speed the train

p§ hhos® 1:10 pm 8 woSe
K0 Kook 48 &5y, @o0d ¥d [PoSreaC

(1) 60 2) 72 3) 84 @ 56

P

157) Arwater glas
ends are 4 cm and 2 cm.

(Take o= —Z-%J
g

€ fomy 3§ Erdoss® &F) VHTH I 14 20.2. 0 DS Tgrer 4 0.

s in the shape of a frustum of a cone of height 14 cm. The diameters at the
Then the volume of the glass, in cubic centimeters, is

’y
5005 270,00, @Y & T DTHOIT0, oY DoBNLIS’ (n = 72 m @"mﬁ‘oé)
4 - ) 5
2
= 1
@) 1027 4) 1065
' 7

158, ;[tiz Su:de?fts ofa class are standing in some rows, All the rows have the same number of
Smdzts. 3 students. are added in each row, then there will be one row less. If three
| s are removed in each row, then there will be two rows more. Then the number of
students in the class is -

2.8 S5K8S® v .
65 5656 iizifém ik 52‘?’5‘ Sy, w3 ses00 4578 S0 DgBEOTE
20 dorgesd DODB L8 Sy gradion. BB St SR> ATgRER

- 817 Both Siden DéHEToN. B SShasty dergdie Do
@ s D™ i

I
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GDP growth rate of some countries for two years 2015-16,2016-17 are tabulated below. Observe
the table and answer the questions 159 and 160.

Sodh BoSgcren 2015-16,2016-17 0% Howodod FR) e GDP 5y5dinss Bobd HEES*
[w] [X]
FoBIBER08. HEED H5020D 159 5805 160 BHO 53rmad5c08.

Country 2015-16 2016-17
Q%o

A 6.6 8

B 7.3 > 7.4
C 12 5 3.7
D 4.4 > 4.7
E 2.3 b 34
F 3.1 » 2.6

. The country which witnessed the highest percentage of GDP growth rate next to C is

Cebmd w8508 GDP i 7&Q) S37co 3"@3&@ 340
W A @ E 3) B ) D

160.

The country that witnessed the lowest percentage of GDP growth rate is
wdgey GDP 5)50tnd S Bdosos) d¥o |
(1) C @ D 3) E @

161.

The number that does not suit in the following sequence is
& §ob F&S° H6TF0 dopg
5042, 5043, 5044, 5045, 5046, 5047, 5048, 5049, 5050, 5051, ...

.(2) 5050 :
(1) 5049, 2) - _ 3) 5051 @) 5048
162. If T = 2(n+2), forn=1, 2, 3, ... then 1=
" op(n+1)
Tﬂ :2(}?"]‘2), n:l’ 2, 3, i @30.133 @9:33& TG = i
n(n+1)
g .
8 s . 8 8
b 2 — 4y —
) 3 @ 19 . ® % 6 21
37-C
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Answer the questions 163 to 166 using the following information,

Given that

1 USD =70.99 INR, I AUD =0.708 USD, 1 EURO = 1.137 USD, and 1 NZD = 0.679 Usp
(Here USD (U) = US Dollar, AUD (A) = Australian Dollar, EURO (E) = European Union
Currency, NZD (N) = Newzealand Dollar, INR (I) = Indian rupce)

& (808 JSrTrdindy GARBrAod 163 Sod 166 588 DHHOK SSreTws (Tehes,

1USD=70.99 INR_, 1 AUD=0.708 USD, | EURO=1.137 USD, &80 | NZD =0.679 USD
©R a;’:seaéé&.

(28,8 USD (U) = 90083 weth, AUD (A) = @Cg@oﬂ:cﬁ oo, EURO (E) = abrs'es

o ac;::.
eSS (BSg0 (831y), NZD (N) = Srgeerod oo, INR (1) = 8884 drdrow)

-

163. Increasing order of exchange values of INR (I), NZD (N), EURO (E), AUD (A) with

USD is
USD &' INR (I), NZD (N), EURO (E), AUD (A)© $r68 Devde wsbiirm o
(1) LN,EA 2) E,LN,A @ LN,AE 4 LEA,N

164. The currency among the following which has the highest exchange value with EURO is
& §od TIS* WxrG'S' WELHE SEED Deoss KBRS B30 ($38y)
(1) U 2] 1 G A 4) N

165. The currency which has the least exchange value with USD is
USD & wdgey $68 dend Ko ($dg0 (83)
(I) N 2) A BY E 4) |1

166. The currency among the following which has the highest exchange value with AUD s
Bod o83s* AUD & wEgHE SrdE duds Ke &S50 (88))

1) U @ I 3) N e

——‘_‘—-_"\-____

1471 In a certain code if the word WRITE ig Coded as 136 and the word STUDY is coded 157,
then in the same code the word ‘READ’ ig coded as

28 B'GoRc* WRITE o Ha°) 136 migy STUDY wid sy 157 i B5 &Y, ey
w3 B&S* ‘READ’ o Hord B4 '

W & @ 30 ® 15 . @ 12

38.C
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Inacode .lungung}:_. l!w word *MISTER” is coded as SGWWNS and the word ‘FOREST” is
coded as “UULTIVTL', then the code for the word ‘PERSON’, in the same code language is

.8 B'0 et ‘MISTER o3 Do) SGWWNS o, ‘FORE§_'_1"’@;9§5 Sy ‘'UUHVTL,
mido 80 U, wdyd wd 5'6 eries® o ‘PERSON’S 56

() OrPvuUIw (2 OQYVIV
(3) OQWVKV (4) OPWUKW
169. In a code the letters of the English alphabet arc coded by numbers as follows.
Ao, Zo2,Bo3, Y4 Cos5,Xe0. ..
Then the code for COME TODAY is
0§ B6S* wof wiored dopgod® §obd dBom 56 .
Ao 1,Zo2, B3, Yol Cos5,Xe6...
DY EOME TODAY &3x0%), §°6
(0 14,24,7,1 4,5,24,25,9
(2) 5,24,25,9 X, 24,7, 1,4
(3) 5,24,25,9 12,24,7.1,4
4) 524,259 12,267L4
170. Ina certain code language HYDERABD is coded as KBGHUDEDG. Then WARANGAL
will be coded in thatﬂla?guage as
8 §86 e;:rjé.\é‘ I-I‘J\;DYERABD 9 KBGHUDEDG = §& &%, 9336 o8 rdd’
WARANGAL Bo¥), §6 |
(1) _Z_]_:_)VDQJDO (» ZDUDRQJIDO
(3) zZDUDPJIDO 4) _Z_Q_QQQKDO
71 In a certain code language, if AGRA is coded as 1493241, then the code of BHADRA in
that code language is '
o€ 58 e’ AGRA @8, g8 1493241, wond, @‘&')jé) o3 §6 s’ BHADR_AQ'apgz’
§&
) Wﬁ’:%}_ (2) 464116234L
) 4'64%/’* (4) 464324111

39-C
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language, if ADILABAD is coded as 76547276 and WARANGAL ig
coded as 37170874, then in the same code language BANGLA is coded as

L€ 66 wras® ADILABAD SHng), 5& 76547276 206050 WARANGAL &ng) §§
17170874 wond ©8 §6 as’ BANGLA Gwg), §6
(1) 271347 (2) 270437 (3) 273047 @) 270847

If the code for A is 1, that of B is 3, that of Cis 5, . .., then the code for G is

173.
LE B85 Ad 1w, BR3m, CQ S5, ..., 0 odyd GAwE), 586
¢ 13 2 15 G 19 4 17
174. 1f PRASAD is coded as 123435 then match the words of List-I to the codes of List-II.
PRASAD & 123435 = §6 T3 wiyd =0e° - 1 &°0 dmets =de - [ &9 EFhed*
22 bgs g -
-pdaduod. |
List-I List - 1T
o - | =D - 11
A) SARADA L 132353
B) DASARA [I) 314323
C) PARADA 1) 432353
D) APSARA [V) 534323

The correct match is
BOGHS 56

A B C
1y 1L v
@» W I
@ v m I
@ v I Il

—~ O

I
]

~\

175

—

—

If - denotes addition, + denotes muitiplications and x denotes division, then
{39 x13)+6] -8= *

—J080a), + KHreeseoR), X &me’.ﬁmagl Sy, wydd {(39 X 13)+6}-ﬂg£- :

P
40-C
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176. Read the following:

In a certain code language

MONKEY is coded as LNMJDX then consider the following

Assertion (I) - The code of FRANCE is EQZMBD. '

Reason (II):  The pattern of the given code is A = 7. B — -

(1) (I) and (II) arc correet and (Hivis the correct cxpli;lﬁim: 21; ((I:)—) 23 G
2) () fmd (I) are correct and (1) is not a correct explanation oF(‘I)

(3) (D is true, (I1) is false. '

(4) (D) is false, (II) is truc.

& 808 W&SJ0d:

o8 56 rdest

MONKEY & LNMIDX r §'80R 8% & (§0d o8 H8redotod

ASSeS0 (1)1 FRANCE 86 EQZMBD.

s*de00 (II): RS wSdGe0 (pattern) E6A-Z,BoAC->B,D-C,..
B (1), (1) oo Sergen, (1) 8 888 288 (I1).

(2) (1), (I) e Sergen, (1) 8 IS dH8ed (IT) s~éo.

(3) (I)3&go, (II) wi8go.

(4) (1) wd&go, (II) S&g0.

In a code language BREAK is written as XHUYO. Then, FLUTE is coded in that code

177.
language as
o€ '8 ovdes® BREAK @ XHUYO i (graneh. @y, & §8 ordes® FLUTE &), §6

(¥, TNEFU (2) TMDEW (3) UNFEV (4) UNEFW
If in a code language DREAM is coded as FTGCO, then CURSE is coded in that code

178.
language as
o€ 86 wraes® DREAM @ FIGCO m §°6 &%, elyh © 86 e CURSE &%, §'6
() EVSWH (@ EXUVH (3 FYTUG 7 EWIUO
he immediate next consonant

[n a certain coding cvery cons%_f_ﬁnghsh alphabet is codeq ast
and each vowel is coded as 1ts previous vowel. Based on this In

179 to 181.
o 5&of ;’Jge‘BeS‘ 2003
ST D8 J00&dd) @ﬂbam“\ir

RHoLH BSrprsdosgod.
179. The code for the word ‘MANGO’ is

formation answer questions

wlgSrosV PS8 @Xn 58 FSoPobd $) ST Foomdr, ©8
o 5 179 208 181 565 Ko

§5 BT, & dSrordo sFom

‘MANGO’ 578 §'& - . ,é s
. I ) 1 [
(1) NEPHU (2) NBOHP . ) NL_@E;—-—-—"‘"_
-C

)
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180. The string of letters that is coded as ‘CDEFG’ is

‘CDEFG’  §°6 @o%ag wissre

(1) BCAEF (2) BCIDF (3) BCEIF () BCADF
181. The code for the word ‘LITMUS’ is

LITMUS’ 578 §°6
() MEVNAT  (2) MEVNOT (3 MEUNVT (49 MEUNUT

uestions from 182 to 191 you find a question
). You have to decide whether these statements

Data Sufficiency: In each of the following q
followed by two statements labelled (I) and (II
answer the given question.

Mark your options as
(1), if statement (1) alone can answer the question,

(2), if statement (II) alone can answer the question,

(3), if both statements (I) and (II) are required to answer the question,

(4), if statements (I) and (II) together also can’t answer the question.

BT 0F HogHd 1 Bods &) BHeo 182 S08 191 5685 o B8 PHSSr .8 @), TAJod Tod
BSSTen (1), (1) 256500088, 2N @HS & PISTe0 2TdSReRRr BS' A Aganowd)
&od. ad)d PHH DI, AT 8

B3Es0 (1) S 2038 9 dsrmdo (1) €,

B3SS0 (1) SrE@d 203 J ddrwdo (2) o),

B3saren (1), (II) eo ok 055508 (3) v,

BSsaen (1), () © 3080 &DRPACDINEE JI3rerdsn 1S5BENE A SSredo (4) IH)
KB otsoad. '

182. Who is tallest among A, B, C, D, E?
) Dis taller than B, but shorter than E
II) Cis taller than both B and E but shorter thar{ A
A, B,C,D,Eo¢® @8 &rhd J56?
) Ded sgBsoy 2660, SVES) 2y,
II) B,Ee &) Cdrd, 50 Ay e S

'183. What is the volume of the right m 9
I) Base radius of the cone is 12 ¢y, -
I[) Semi vertical angle of the cone j5 45
oonS)B0H fopod) DIDVSr0 ogo |
) Fomd w8, ETEE0 123 5,
II) Hogod BwE, 278 Seo 450 o
oc — _.
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What is the total number of divisors of the positive integer #?
[)  nis product of distinct numbers.

II) nisthe cube of a prime numbers.

G3Jrgro8o n BwE), Ingo graste Jopg Jod?

I) =n, D@gréoaaga ©Z0. y

II) n, 8 vareg Sopg &8, Dodo.

Booklet Code :

185.

Who is tallest among A, B, C?
I)  Ais taller than B.
II) B is shorter than C.

A, B, C o¢5* wdgod &R I3607
[) Bis) ARddSad.
) Csoy Bargardo.

186.

What is the rate of simple interest?
) Principal is Rs. 3,000
) Interestis Rs. 450

8 $& G Dod?
) wdeo & 3,000
1) &g & 450

187.

Let m and n be positive integers. Is n even?
) mxnisan odd integer.
) m+nisan odd integer.

o 358 & 57
m SoBosas 1 e c;s.ﬁ,g)ﬂc;oww.é_gg_{eo@g ©H&o ’

D n;’ x n g B LOPG. >

1D }z-i-.rzfiaé Bd dopg. : I

188.

f the right angled isosceles triangle?

ic the area o o o o
What is t  the triangle are 90°, 30°, 60°.

I) The angles 0 .
II) Length of the hypotenuse 1S 15v2 cm.

002 e HIEGTTO Gabeo ok BrrOsa o8l

) eeaswree 90%30% 60™
i 43-C
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of the ten terms of the arithmetic progression?

9. What is the sum
0 The first term is 10.

[ The tenth term is 2.

so0 3080 Jdoa?

I8

wobRdSR BB ©
[ awss sdo 10.

(1) 383 d&o 2

_____-..—-—-._-._—_-—.__ —

190. Is A, a sister of B?

)  Bisasister of A

) A is father of two children P and Q
B & AE0 vydoT?

1) A Baxsd

P Qed =3%H byot Adod

191. Did the person A get profit?
[)  The person A purchased 9 bananas for Rs. 30.
[[) The person A sold 8 bananas out of 9 bananas for Rs. 32.

4 it . .
192, The nussing terms in the following sequence in the order they appear are

S 5ol F3S 0008 Doen D 3T Shve®
sww,-,z.ros 1
1) N 4 2 -
2) N,7 3) N6 @ N>
193, The mssing { B 7o .l
¢rm of the sequence 1, 3, 6, 10, 15, ,28,361s
e P o :
“eiia 1,3,6,10,15, 28 |
(1 16 ‘p‘:,"{‘ 1(‘)) 18 366*61&0‘3:5 “""50
= 1§ = 2 4y 25
194, Th, - .H"“_ /(3) 21 I (4) |
r{c R e in the scqucnccm_ —
;;-}‘E" 40 (‘k“ H:, ]:6 ot 3 G”Sﬁ L LO 1s
) (j‘* ~g
T — S e (2) OQ 0 4) OS

T 13 OR | i
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{ 4
9’,)’; Jf:i, ir{fw ST O TEAE ML At =, (‘— —, —
e} s i 2
o - s e
/ /: ’ = - -
Y o ;‘_./f_- ,__’.. — — — ;::‘ Gt oo
N e e 7 = ( o~ :— {; g
£a - s P -
3 *F L. RZ o S B
(% » aes & G) = @
i) ” % - = =
, i B

£ f iz
156, The next term of the weguence B.C,E. G KM
l:“;’l"{“"flf f;, (-‘ -:-'-'_ (:': :/»- "p{ {-4 'E'::‘E b

T Zpy i -
(1) € 72) O (3) P @)

S ———

he guest ;
] res ora es, circle
' 1 i he rectanele represents graduates, CIrc
below the square region sepresen Z her gle rep

s1ons 7102 figure given
fased on the below information znswer the guestions ffom 197 10 200. In the figure g
-sresents post-graduztes, 1 |
hile the trizng sents Lovernin mployees.
represents private employees wniic Ine trizngle represents Government €mplo)

5 Hess 33rc oS08, 1§08 Sos
S ‘ 5oy iy Snedd 22 A S ﬁ)v&
2! NS0 @35 = TSEy

o 37 o < y e s v £ - =
Rt
Fi i é ~ - ~ o o o ‘T = A
&4 Tt ’ i -dd'vw‘_gaw Tp |t e = g e oA iad, o
L 20 t S0 oD S ot et gy |ttt £ / o ]
s b37 S s3I - £ -~

Bul Lhoe wrlor 197 Zcole

- A,

& o aa Mmoo P w2

(5 AT H/-/’ /3;"’{14*—1‘-\4 I i
;:;‘E’:w';fu ] ':z A A E .5*‘, Ll s

e ment or private

resenting ﬂo"'gfﬂduatcscmployed either in Govern D

» : «rions rep
197, The region/regt?!
1s/are 5
(2) ek

i § s o0l ﬁﬁ‘&”wa“’ﬂ‘%ﬁ@ms* '
Aol ':)jw lJofae Y el 2&60.5” 9
sy BT (2 s _‘ i o9
f l ) 2 _?/
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The region 4 represents

(1) Graduate Government employees

(2) Graduate Private cmployees

(3) Post-graduatc Government employces

(4) Post-graduatc Private employees

Hddo 4 &roBd
(1) 5488 Babds & ghen
(2) DLFGS @RI &&gHen

(3) NIFES ILFHS @S G &g
w etﬁé?géd DLWS RI a&ghe

199.

The regions representing Post-graduate unemployed are

SE'88 HLEf e S E o Srdod [Fogred
) i S le

(h 5,07 (2) 38,6

200.

1,5, 7 and 10 together represent
(1) Unemployed graduates
(3) Unemployed post-graduates

1,5,7,10 0 50% 300
(1) R6a'g Sgaicoe

(31 dcas'yh aSE°ES Hlsiae

Booklet Code :
3) 6,7 A4 5,7
(2) Employed graduates
(4) Employed post-graduates

(2)
(4)

QTS e &groen
S5 8 e &growd

46-C
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